
Item Item Number Description Price

001 ACCESSORIES

001.01 99956033-AU-15 Power Supply Advanced 230V AU

001.01.01 9983204 Cork For DC in PWS S300i

001.01.03 58984405LF Cable - Power Supply AU

001.01.03A 58984504LF Cable - Power Supply TH

001.01.03B 58984409LF Cable - Power Supply SA

001.02 9996084-ASSY Caddy (Domestic Universal)

001.02.120 9991503-ASSY Caddy Sub (Domestic) Screw Kit

001.02.121 9991098 Caddy Sub (Domestic) Top Handle

001.02.122 9980675 Caddy Sub (Domestic) Handle Hook

001.02.123 9983202 Caddy Sub (Domestic NS) Adaptor For PSU

001.02.124 4197023-ASSY Caddy Sub (Domestic) Profile + Insert Assy

001.02.125 9983203 Caddy Sub (Domestic NS) Cover for PSU Housing

001.02.126 9983181 Caddy Sub (Domestic NS) Adaptor S Line

001.02.127 9980672 Caddy Sub (Domestic) Wheel Cover

001.02.128 9980670 Caddy Sub (Domestic) Base

001.02.129 9980681 Caddy Sub (Domestic) Wheel

01 99952112-ASSY Rear Lid S300i White Assy

02 99831362 Filter Cover Latch Blue (S150-S300i)

03 FILTERS S300i - CATALOG KIT

03.01 9983106 Filter Basket Rough M2i

03.02 9991458-ASSY Filter Basket Assy M2/M2i Ultra Fine

03.02.12 9983108 Filter Handle S300i

03.02.13 9983109 Filter Backet Handle Latch s300i

03.02.14 3917029 Filter Handle Spring S300i

03.02.15 9983110 Filter Top S300i

03.02.16 6350150 Non Return Valve (M2/M2i Large)

03.02.17 9983162 Filter Pillar 2

03.02.19 9983161 Filter Pillar 1

03.02.21 9983107 Filter Door

03.02.22 9983105 Filter Bottom S300i + OM

03.02.23 9991467-ASSY Filter Panel Kit M2/M2i Ultra Fine (4)

03.02.D 3379410-A Screw WN1412 A2 KA40X10

03.02A 9991457-ASSY Filter Basket Assy M2/M2i Fine

03.02A.12 9983108 Filter Handle S300i

03.02A.13 9983109 Filter Backet Handle Latch s300i

03.02A.14 3917029 Filter Handle Spring S300i

03.02A.15 9983110 Filter Top S300i

03.02A.16 6350150 Non Return Valve (M2/M2i Large)

03.02A.17 9983162 Filter Pillar 2

03.02A.19 9983161 Filter Pillar 1

Mytronics Australia Pty Ltd

Dolphin S300i



Item Item Number Description Price

03.02A.21 9983107 Filter Door

03.02A.22 9983105 Filter Bottom S300i + OM

03.02A.23 9991463-ASSY Filter Panel Kit M2/M2i Fine (4)

03.02A.D 3379410-A Screw WN1412 A2 KA40X10

03.03 9983108 Filter Handle S300i

03.04 9983109 Filter Backet Handle Latch s300i

03.05 3917029 Filter Handle Spring S300i

03.06 6350150 Non Return Valve (M2/M2i Large)

03.07 9983110 Filter Top S300i

03.08 9983162 Filter Pillar 2

03.10 9983161 Filter Pillar 1

03.12 9991467-ASSY Filter Panel Kit M2/M2i Ultra Fine (4)

03.13 9983105 Filter Bottom S300i + OM

03.14 9983107 Filter Door

03.15 9991463-ASSY Filter Panel Kit M2/M2i Fine (4)

03.A 3379410-A Screw WN1412 A2 KA40X10

04 5000009 Amphenol Plug*

05 9983175 Lid Top S300i White*

06 99952102-ASSY Outer Casing S300i

07 99831731 Grill Left S300i Blue*

08 99831741 Grill Right S300i Blue*

09 9991733 Float + Housing for S300i

10 9991730 Water Tube M2/M2i Assy

11 9983112 Bearing: Wheel M2/M2i

12 9983120 Adaptor For Wheel Bearing M2/M2i

16 9983102 Rapid Drain Flap (DB2)

17 9991271 Retrofit For Cable Con 2015

17.140 1811404 Cable Connector

17.141 3861002 RK RING FOR CABLE CONN.

17.142 9980025 Washer Gland 13MM

17.143 9980797 NUT FOR MBU TERMINAL 2015

17.145 9985048 Cable Conn Three Pin

18 99958906-DIY Cable Dyn 18m SWV DIY (M2i)

18.110 9991271 Retrofit For Cable Con 2015

18.110.140 1811404 Cable Connector

18.110.141 3861002 RK RING FOR CABLE CONN.

18.110.142 9980025 Washer Gland 13MM

18.110.143 9980797 NUT FOR MBU TERMINAL 2015

18.110.145 9985048 Cable Conn Three Pin

18.111 9983126 GROMET REF SMALL

18.112 9995090 Cable Float Assy

Mytronics Australia Pty Ltd

Dolphin S300i



Item Item Number Description Price

18.113 99958811-DIY Cable Dyn 1.2m SVW DIY (2015 Line)

18.115 5000009 Amphenol Plug*

19 9983172 LED Lens M2i

20 99955381-ASSY Wheel Assy PVC Blue

20.86.A 3379616-A Screw KA50X16 (Retail)

20.87 9983112 Bearing: Wheel M2/M2i

20.88 6130006 Brush S Line PVC Blue Moulded*

20.89 9983120 Adaptor For Wheel Bearing M2/M2i

20.90 9983115 Bushing - Brush 3

21 3726284 Weight Rear S300i

22 3917022 Spring for Filter

23 MOTOR UNIT CATALOG KIT S300i

23.01 9991735 WATER ADJUSTER TUBE M2/M2i ASSY

23.02 99833442 Impeller Tube

23.03 9983356 PIN SERVO M2 iO

23.04 9983363 SPACER FOR SERVO MOVEMENT

23.05 5588902 Impeller Motor Holder 2

23.06 9995266 Impeller + Screw DC Black

23.07 9991734-ASSY Cover MU S300+Servo+Card Assy

23.08 3861644 O-Ring 164*4 N70

23.09 9983406 PCB Holder S300

23.10 3862503 Seal Oring 25X3 I.M

23.11 5583323 Seal Oring 32X3

23.12 5890051LF Cable Loom MBU 2010

23.13 9991211-ASSY Impeller Motor S300 Assy

23.14 9983180 Front Clips For MBU S300

23.15 4850010 Desiccant Bag*

23.16 99951558-ASSY Electronic Card S300i LED Assy

23.17 9983166 Cable Clips For MBU

23.18 9991210-ASSY Drive Motor S300 Assy

23.18A 9983142 Gear Z12 For Drive Motor

23.19 3862474 Oring 47x4mm

23.20 9983140 Clip For MBU

23.21 9991736 Box for MU S300i + LED Assy

23.A 3379440-A Screw KA50X12 A2 WN1412 (Retail)

23.B 3101308-A Screw M3X8 DIN965A-A2 TUF

23.MU2 9995388-EX Motor Unit M2i LED Ex*

23.MU2.03.A 3354020-A Screw KA40X20 (Retail)

23.MU2.03.B 3379616-A Screw KA50X16 (Retail)

23.MU2.03.C 3101308-A Screw M3X8 DIN965A-A2 TUF

23.MU2.52 9991735 WATER ADJUSTER TUBE M2/M2i ASSY

Mytronics Australia Pty Ltd

Dolphin S300i



Item Item Number Description Price

23.MU2.53 9983146 Impeller Tube*

23.MU2.54 9983356 PIN SERVO M2 iO

23.MU2.55 9983363 SPACER FOR SERVO MOVEMENT

23.MU2.56 5588902 Impeller Motor Holder 2

23.MU2.57 9995266 Impeller + Screw DC Black

23.MU2.58 9991734-ASSY Cover MU S300+Servo+Card Assy

23.MU2.59 3861644 O-Ring 164*4 N70

23.MU2.60 9983406 PCB Holder S300

23.MU2.61 3862503 Seal Oring 25X3 I.M

23.MU2.62 5583323 Seal Oring 32X3

23.MU2.63 5890051LF Cable Loom MBU 2010

23.MU2.64 9991211-ASSY Impeller Motor S300 Assy

23.MU2.65 9983180 Front Clips For MBU S300

23.MU2.66 4850010 Desiccant Bag*

23.MU2.67 99951558-ASSY Electronic Card S300i LED Assy

23.MU2.68 9983166 Cable Clips For MBU

23.MU2.69 9991210-ASSY Drive Motor S300 Assy

23.MU2.70 9983142 Gear Z12 For Drive Motor

23.MU2.71 3862474 Oring 47x4mm

23.MU2.72 9983140 Clip For MBU

23.MU2.73 9991736 Box for MU S300i + LED Assy

24 99831521 Track: M1/M2 Blue

25 9991731-ASSY Bypass Assy M2/M2i

26 9983100 Chassis S2 (Grey)*

27 9983168 Bypass Cover Left S2 C.Grey*

28 9983169 Bypass Cover Right S2 C.Grey*

29 S300 DRIVE SYS CAT. KIT

29.01 9983410 Wheel Front Grey

29.03 9983114 Bushing - Wheel 2

29.04 9983121 Wheel Disk Grey*

29.05 99834051 Side Panel (Grey)*

29.A 3379616-A Screw KA50X16 (Retail)

30 9991732 Vacuum Strips (Pack of 10)

31 9995545-ASSY Active Brush S300i Blue Assy

31.74.A 3379616-A Screw KA50X16 (Retail)

31.75 9983123 Active Brush Gear M2/M2i

31.76 M96200011 Active Brush Holder M2/M2i L

31.77 9983119 Active Brush Adaptor (M2/M2i R)

31.79 61300601 Brush Active PVC OM (Blue)

31.80 9983113 Bushing - Active Brush S300

31.81 9983118 Active Brush Adaptor (M2/M2i L)

Mytronics Australia Pty Ltd

Dolphin S300i



Item Item Number Description Price

31.82 M96200021 Active Brush Holder M2/M2i R

32 9983123 Active Brush Gear M2/M2i

33 9983116 Active Brush Holder M2/M2i L*

34 9983119 Active Brush Adaptor (M2/M2i R)

35 9983088 Wheel Tube for Active Brush S300

36 99831221 Brush Active PVC (Blue)*

37 9983113 Bushing - Active Brush S300

38 9983118 Active Brush Adaptor (M2/M2i L)

39 9983117 Active Brush Holder M2/M2i R*

A 3379616-A Screw KA50X16 (Retail)

B 3379440-A Screw KA50X12 A2 WN1412 (Retail)

Dolphin S300i

Mytronics Australia Pty Ltd

Dolphin S300i



Dolphin S300i

001  ACCESSORIES

Mytronics Australia Pty Ltd

Dolphin S300i



001.01  Power Supply Advanced 230V AU

001.02  Caddy (Domestic Universal)

Mytronics Australia Pty Ltd

Dolphin S300i



03  FILTERS S300i - CATALOG KIT

03.02  Filter Basket Assy M2/M2i Ultra Fine

Mytronics Australia Pty Ltd

Dolphin S300i



03.02A  Filter Basket Assy M2/M2i Fine

17  Retrofit For Cable Con 2015

Mytronics Australia Pty Ltd

Dolphin S300i



18  Cable Dyn 18m SWV DIY (M2i)

20  Wheel Assy PVC Blue

Mytronics Australia Pty Ltd

Dolphin S300i



23  MOTOR UNIT CATALOG KIT S300i

23.MU2  Motor Unit M2i LED Ex*

Mytronics Australia Pty Ltd

Dolphin S300i



29  S300 DRIVE SYS CAT. KIT

31  Active Brush S300i Blue Assy

Mytronics Australia Pty Ltd

Dolphin S300i



Mytronics Australia Pty Ltd

Dolphin S300i


